
a.  4,751  –  __________ 

c.      561  –  __________

e.  6,089  –  __________

g.  9,520  –  __________

i.    In the number 1,258, which digit 
    has the greatest value?       _________________ 

j.    In the number 6,129, which digit
    has the least value?        _________________

b.  8,426  –  __________

d.   4,509  –  __________

f.   1,099  –  __________

h.  6,802  –  __________

Digit Values
Name:

What is the value of the underlined digit?
      2,814 - The value of the digit 2 is 2 thousands, or 2,000.
      2,814 - The value of the digit 8 is 8 hundreds, or 800.
      2,814 - The value of the digit 1 is 1 tens, or 10.
      2,814 - The value of the digit 4 is 4 ones, or 4.

Write the value of the underlined digit.
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a.  4,751  –  __________ 

c.      561  –  __________

e.  6,089  –  __________

g.  9,520  –  __________

i.    In the number 1,258, which digit 
    has the greatest value?       _________________ 

j.    In the number 6,129, which digit
    has the least value?        _________________

b.  8,426  –  __________

d.   4,509  –  __________

f.   1,099  –  __________

h.  6,802  –  __________

Digit Values
What is the value of the underlined digit?
      2,814 - The value of the digit 2 is 2 thousands, or 2,000.
      2,814 - The value of the digit 8 is 8 hundreds, or 800.
      2,814 - The value of the digit 1 is 1 tens, or 10.
      2,814 - The value of the digit 4 is 4 ones, or 4.

Write the value of the underlined digit.
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